m/s

00 L Sv/h|| Sv/h 1.7
11 50 pSv/h|| pSv/h 1.6
11 40 pSv/h|l pSv/h 1.7
11 30 pSv/h|| pSv/h 1.5
11 20 pSv/h|| pSv/h 1.3
11 10 pSv/h|| pSv/h 1.5
11 00 pSv/h|l pSv/h 1.9
10 50 pSv/h|| pSv/h 1.8
10 40 pSv/h|| pSv/h 2.3
10 30 pSv/h|| pSv/h 25
10 20 pSv/h|| pSv/h 2.2
10 10 pSv/h|| pSv/h 1.8
10 00 pSv/h|| pSv/h 2.0
50 pSv/h|| pSv/h 31
40 pSv/h|| pSv/h 2.9
30 pSv/h|l pSv/h 33
20 pSv/h|| pSv/h 2.3
10 pSv/h|| pSv/h 2.8
00 pSv/h|l pSv/h 2.6
50 pSv/h|| pSv/h 25
40 pSv/h|l pSv/h 33
30 pSv/h|| pSv/h 37
20 pSv/h|| pSv/h 34
10 pSv/h|| pSv/h 2.9
00 pSv/h|l pSv/h 2.7
50 pSv/h|| pSv/h 30
40 pSv/h|| pSv/h 2.9
30 pSv/h|| pSv/h 2.0
20 pSv/h|| pSv/h 1.9
10 pSv/h|| pSv/h 2.1
00 pSv/h|| pSv/h 2.3
50 pSv/h|| pSv/h 1.6
40 pSv/h|l pSv/h 1.5
30 pSv/h|| pSv/h 1.2
20 pSv/h|| pSv/h 14
10 pSv/h|| pSv/h 1.6
00 pSv/h|| pSv/h 1.3
50 pSv/h|| pSv/h 1.0
40 pSv/h|| pSv/h 1.0
30 pSv/h|| pSv/h 0.7
20 pSv/h|| pSv/h 0.6
10 pSv/h|| pSv/h 05
00 pSv/h|| pSv/h 05
50 pSv/h|| pSv/h 05
40 pSv/h|| pSv/h 0.6
30 pSv/h|| pSv/h 0.2
20 pSv/h|| pSv/h 0.4
10 pSv/h|l pSv/h 05
00 pSv/h|l pSv/h 05
50 pSv/h|| pSv/h 0.4




m/s

40 A Sv/h|| Sv/h 0.6
30 pSv/h|| pSv/h 0.7
20 pSv/h|l pSv/h 0.4
10 pSv/h|| pSv/h 0.3
00 pSv/h|| pSv/h 0.2
50 pSv/h|l pSv/h 0.2
40 pSv/h|l pSv/h 0.2
30 pSv/h|l pSv/h 0.2
20 pSv/h|l pSv/h 0.2
10 pSv/h|| pSv/h 05
00 pSv/h|| pSv/h 1.0
50 pSv/h|| pSv/h 0.6
40 pSv/h|| pSv/h 0.9
30 pSv/h|| pSv/h 14
20 pSv/h|| pSv/h 1.7
10 pSv/h|| pSv/h 1.5
00 pSv/h|| pSv/h 1.6
50 pSv/h|| pSv/h 1.0
40 pSv/h|| pSv/h 0.9
30 pSv/h|| pSv/h 038
20 pSv/h|| pSv/h 1.0
10 pSv/h|| pSv/h 1.0
00 Sv/hl uSv/h 1.4




